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Question 1 Primary 5 Science » Primary 5 Science (Term 2) 2 pts

For each question, four options are given. One of them is the correct answer. Make your choice
(A, B, C or D) and choose the correct answer below. (56 marks)

Minghao was drinking a cup of hot coffee when his spectacles fogged up.

Which of the following statements explains why his spectacles had fogged up?

A) Water from the surrounding air condenses on the cool surface of his lens.
B) Water from the surrounding air evaporates from the cool surface of his lens.
C) Water vapour from the hot coffee evaporates from the cool surface of his lens.

v' D) Water vapour from the hot coffee condenses on the cool surface of his lens.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,502
Question 2 Primary 5 Science » Primary 5 Science (Term 2) 2 pts
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A)
B)
C)
v’ D)

Question Type:
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The whasats of 6 horse cart ane Btied with sesl dmes

The Bt of steps hﬁhmmWhmulmmMammmm spaka:

Slep 1: Heat wup the sleal rim with Burning coals.
Siap 2 Placs the healed steal rim around the woodean Spoie,
Step 3 Cuickly pour cold waler cric e fittsd rim.

Randomize Answers: No

Which of the following statomants axpizing why sfap 5 needs lo be carred ouf?

The steel rim will expand so that it can grip the wooden spoke tightly.
The wooden spoke will expand so that it will not fall out of the steel rim.
The wooden spoke will contract so that it will not fall out of the steel rim.

The steel rim will contract to its original size and grip the wooden spoke tightly.

Muiltiple Choice

Thu 5th Aug 2021

Date Added:
Last Modified: N/A
QID#: 28,627,498

Question 3

Primary 5 Science » Primary 5 Science (Term 2)

Richard coukl not open 8 jar of fam beoause the id was too tight.

i

jar

Which of the following shows the corest acian that woild help Richard apan the jar of
and explarafion on how it hdped? P

A)

Action

Explanation

Heat the lid over a flame.

The heat will cause the lid to contract and loosen.
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v B) Action Explanation
Wrap the lid with a piece of warm The heat will cause the lid to expand and
cloth loosen.
C) |Action Explanation
Heat the bottom of the jar. | The heat will cause the jar to contract and loosen.
D) |Action Explanation

Immerse both the jar and lid in
hot water.

Question Type:

The heat will cause both the jar and the lid to expand
and loosen.

Randomize Answers: No

Multiple Choice

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,499

Question 4

A)

B)

C)

v D)

An iron block was hung from a

LTI

T

Primary 5 Science » Primary 5 Science (Term 2)

spring balanoe as shown balow,

—=SOring balanca

‘Which of The lellowing comeclly deserbes the wolume and mass of iron block afaer being
Fung for 15 minutes aboa e Buming candia?

Volume of iron block (cm?)

Mass of iron block (g)

remained the same

increase

Volume of iron bock (cm3)

Mass of iron block (g)

remained the same

remain the same

Volume of iron block (cm?)

Mass of iron block (g)

increased

increase

Volume of iron block (cm?)

Mass of iron block (g)

increased

remain the same
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Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 5

A) Aonly
B) Bonly
C) AandB only

v' D) Band Conly

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 6

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,627,500

Which of the following siatomant(s) isiare comact?

A Waler in set-up A wif boll first.
Tho waler in both containes wil change stata,
c Waiter in sol-up B wil bok fiest.

Muiltiple Choice
No

Thu 5th Aug 2021
N/A

28,627,501
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Young lvas an Yourg b
land

1 stages
o 2]

N ==

Vitich one of tha following anima's represents P, O and AY

v A |p Q |R

cockroach | frog | butterfly

B) lp |a R

frog | cockroach | butterfly

C) |p Q R

cockroach | butterfly | frog

D) |p Q (R

butterfly | frog | cockroach

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,627,503

Question 7

Primary 5 Science » Primary 5 Science (Term 2)
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Tha ciagrams Below show Nowars that have il bean polinaed,

)]
el (o)
In which of mm Mersars can pellination taky place?

A) Aand Conly

¥v' B) Band Conly
C) AandD only
D) B, CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,504
Question 8 Primary 5 Science » Primary 5 Science (Term 2) 2 pts

The dizsgram below shows a sfce of i T,

Truil T

—

mmmhiﬁmgm.mmmﬂmﬂnﬁmmmh comact
abowt the flower from which frut T has developed? s

A) The flower has many ovaries.
B) The flower has more than one stigma.

C) There are many ovules inside its ovary.
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v

D) The fruit is developed from a flower with many small petals.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,505

Question 9 Primary 5 Science » Primary 5 Science (Term 2)

Wenhao wonl faf a s ol e rack. ARar fhe run, be perspired and ol oven colder when it
bacame winly,

Which of the following slslements axplaing coemetthy wihny b fell colder whan it became

A) His perspiration loses heat to the body and evaporates faster.
v B) His perspiration gains heat from the body and evaporates faster.
C) His perspiration loses heat to the surrounding wind and evaporates faster.
D) His perspiration gains heat from the surrounding wind and evaporates faster.
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,506
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The diaprama balir show 8 Nlowsr, femals human reproduective system and maie

human reproductve sysiam.
A E
a
c
D
I”'
Flawer
X
Femake reproductive syilem Male reproductive syglem

Which parl of the stowes fower has the same functiors of X and Y in humars?

A) x|y

C) x|y

D) x|y

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,627,507

Flowers benefit directly from the visits of insects like butterflies and bees because they

A) fertilise the flowers.
¥ B) pollinate the flowers.
C) lay eggs on the flowers.

D) provide food for the flowers.
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Question Type: Multiple Choice
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Qu estion 12 Primary 5 Science » Primary 5 Science (Term 2)

Mally condected an cxpariment using the

sclance lab at reem temperalyres, oL belrw. Tha sei-ups am placed in the
watar
d
galup A = abup B Bak4p

Which of the follwing
thres mmrmwmm the change in temperaiure of waler in the

A)

temperaturs (°C)

time (min)

B)
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temperature (°C)

“fime (min)

time (min)
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Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,509
Qu estion 13 Primary 5 Science » Primary 5 Science (Term 2) 2 pts

Samy wanted tofind out how the smount of wind effects the rale of svaporation of waler on
the paper. The fars are all moving &1 the same speed,

papar with wal
patch

peper with wet
patch folded ug
S0om
fan tan
sedip O
Which Pavo cet-ups should he v 1o have 5 fair experimen] T
A) AandB
B) BandC
v'C) AandC
D) CandD
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,510
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A) |Produce eggs

Fertilised egg develops into an unborn baby

=]

Q

B) |Produce eggs

Fertilised egg develops into an unborn baby

S

R

Produce eggs

Fertilised egg develops into an unborn baby

=]

R

D) |Produce eggs

Fertilised egg develops into an unborn baby

S

Q

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 15

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,627,511

Primary 5 Science » Primary 5 Science (Term 2)

Which one of the following helps a developing baby get his nutrients from his mother?

A) egg
B) womb

C) ovary

¥' D) umbilical cord

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,627,512
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Question 16 Primary 5 Science » Primary 5 Science (Term 2) 2 pts

Study e famiy tres of Kasim as shown below.
The family o0 shows the member wha have stachad aarobes or detached sarobess,

B0 [(FH® |eem

[J Male with aitached

Y g

B Maie wah detaches

eariohes
o . Famals with delsched
[ earfobes
Kasim

¥Which ang of the following stabaments shaul the mily tnee is comact?

A) Both Kasim's uncles have detached earlobes.
v B) Both Kasim's sibling have attached earlobes.

C) Both Kasim's parents have detached earlobes.

D) Both Kasim's grandmothers have attached earlobes.

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,513
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Ai Ling wanled] bo ksl the strength of bags made of four differant materials.
She placed 100-gram welghts, one ot 8 time, into each bag untll if lore,

redort stand
00-gram wadight
bag
She recorded the number of weights the bags could hold before they tore in the tabla
] idaterial of bag A B G f 7]
Mumber of 100-gram weights
the biag could hold bafore it fore 8 4 z J ﬂJ

Based on the infarmalion ghven, which of the following materisis is the strongast?

vV A A
B) B
C) C
D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,514
Question 18 Primary 5 Science » Primary 5 Science (Term 2) 2 pts

The dizgram below shows the changes of stats in water,

keabe [—2 5 oo %D‘MWTWJ

Which of the following is comect?
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A) | Process A |Process B | Process C | Substance D

Lose heat |Gain heat |Lose heat [Steam

B) |Process A |Process B |Process C | Substance D

Gain heat |Lose heat |Gain heat |Water Vapour

C) |Process A |Process B | Process C | Substance D

Lose heat |Gain heat |Gain heat |[Steam

v' D) Process A | Process B | Process C | Substance D

Gain heat |Gain heat |Lose heat |Water Vapour

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,515
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Study the flowchart below.,

=)

Is it watnrproof? ——3

Pz

=1

W hich matarial should Diénesh use o make the body and handde of the frying pan?

A) Body | Handle
D E

B) Body | Handle

¥ C) |Body|Handle

D) Body | Handle
F G

Question Type: Multiple Choice
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Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,516
Question 20 Primary 5 Science » Primary 5 Science (Term 2) 2 pts

Four shudents distussed on the effects dﬁdmmuummhtﬂuﬂrﬂn balow,

v" A) Ming and Elliot
B) Elliot and Yuki
C) Ming and Betty

D) Yuki and Betty

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,517
Question 21 Primary 5 Science » Primary 5 Science (Term 2) 2 pts
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dliagram 1 i 3

What concusion can he draw From the chservation?

A) The cube is a magnet.
v B) The cube is made of steel.
C) The cube is made of copper.

D) The magnet has two like poles.

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,627,518

Qu estion 22 Primary 5 Science » Primary 5 Science (Term 2) 2 pts

In Singapora, waste may be soried into diferent bins for the purpose of recycling.
Which of the following stelemands are comect reasone for recyeling vaste?

A, To presane lees
B. To reduce pollution
C.  Toreduce wastage of materials

A) Aand Conly
B) AandB only
C) BandConly

v' D) A, Band Conly

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,627,519
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Question 23 Primary 5 Science » Primary 5 Science (Term 2) 2 pts

Mrs. Ho placed a magnet on a tray of iron fillings.

Which one of the following diagrams correctly shows the pattern of the iron fillings attracted to the
magnet?

A)

B)
v C)

D)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,520
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Jack used a fload 1o help him swim in tha pool
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U

Ve

ClassMarker - Manage Test

Jack fownd that he can contnue 1o pump aF inta the float even when it was fully inflabed.

Wha phoysical property of air alowed him o do thig ¥

A) Air has mass
B) Air occupies space
v" C) Air can be compressed

D) Air does not have a definite shape

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,627,521

Question 25

Study the fiow chart below,

Primary 5 Science » Primary 5 Science (Term 2)

Which of the fallewing regresants the missing guestions, X and Y, in the flow

chart?

A) |x Y

Does it absorb water? | Is it flexible?

B) |[x

Y

Does it allow most light to pass through?

Is it strong?

C) |x Y

https://www.classmarker.com/a/tests/test/?test_id=1793014&trk=edittest_inrow_edit
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| Does it absorb water? | Does it allow most light to pass through?

A)

v D) (x Y
Is it waterproof? | Does it allow most light to pass through?
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,522

Question 26

Iman has a bowl of hot soup and he needs to cool the soup fast.
Which of the following will help to cool the bowl of soup most quickly?

A) Wrap the bowl with a dry cloth.

B) Place the bowl in a ziplock bag.

v C) Pour the hot soup into a metal plate.

D) Cover the top of the bowl with a wooden lid.
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,523

Question 27

Study the clessification tabls below carafully,

i ’

Primary 5 Science » Primary 5 Science (Term 2)

Primary 5 Science » Primary 5 Science (Term 2)

|
!’ The voung
resembles the adull
ehicken '

mosguilo
grasshopper

chicken and frog

Which enimals have been placed incomeclly in the classification tabla?

https://www.classmarker.com/a/tests/test/?test_id=1793014&trk=edittest_inrow_edit
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B) mosquito and beetle
C) grasshopper and beetle

¥ D) mosquito and cockroach

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,524

Qu estion 28 Primary 5 Science » Primary 5 Science (Term 2)

John eonductad an expedment using fwo identical Aesks &g shown below
covarad with a layer of fsathers with nesting while ﬂnhTmuwmuﬁH;fnkm
Both fiasks were flled with 200 o of waler maesuring 80°C. '

200 G of waber
I:l'*ﬂ'ﬁ.l'l'h'llg HE'C
feather
Nesk X

Nask ¥
A magnified picture of the feathas is shown in tha diggfam beiow.

- alr spacas

A1

magnilied wew of the feathers

Which one of the following graphs correctly shows the temperature of water in flask X and Y over a
period of time?

v A)

https://www.classmarker.com/a/tests/test/?test_id=1793014&trk=edittest_inrow_edit
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temperature (°C)

time (min) {

" temperature (°C)
¥
X Y
/
time (min)
C)
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temperature (°C)

time (min)

D)
(=]
temperature (°C)
b
H
. -
time (min)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,525
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Question 29 Primary 5 Science » Primary 5 Science (Term 2) 0 pts

har matha
mﬁl:?;‘dmirl fmm-mhdmlr.mwanwmmmamﬂ

L }—— piate

Figurm 1

Wendy's mother told hwﬁmthmuunmumm-umm:ummrmz

Figure 2

Name the variable Wendy should measure to find out if her mother's suggestion is correct. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,528

Correctly answered feedback
The time taken for the potato to be cooked using each method.

Incorrectly answered feedback
The time taken for the potato to be cooked using each method.

Question 30 Primary 5 Science » Primary 5 Science (Term 2) 0 pts
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har maths
m&:.?;’mir. fmmmmrwum-r.mup{-m:nwmmamu

_ }—— piste

Figura 1

Wendy's mother told hwﬁmthmuunmumm-umm:ummrmz

Figure 2

Give a reason why the potato in Figure 2 would be baked faster than that in Figure 1. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,530

Correctly answered feedback
There is greater exposed surface area so it could gain more heat and bake faster.

Incorrectly answered feedback
There is greater exposed surface area so it could gain more heat and bake faster.

Question 31 Primary 5 Science » Primary 5 Science (Term 2) 0 pts
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Paman wanled to transfer 50 ml of iquid fom the bealor ol & petri dish wsing 2 plastic

SHPE.F:J-I-:IMM Step 2 Insert the droppey inzide tha
winabﬂmd positlon waler. Squnaze the rubber and of e
er of waler dropper and bubbiles wil appear.

Step 3: Release the nbber end of the
dropper and waler wil enter the dropper,

Explain why water will enter the dropper in step 3. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,531

Correctly answered feedback

Air is pushed out of the dropper and water enters to occupy the space previously occupied by the
air.

Incorrectly answered feedback

Air is pushed out of the dropper and water enters to occupy the space previously occupied by the
air.

Qu estion 32 Primary 5 Science » Primary 5 Science (Term 2)
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Paman wanled to transfer 50 ml of iquid fom the bealor ol & petri dish wsing 2 plastic

SHPE.F:J-I-:IMM Step 2 Insert the droppey inzide tha
winabﬂmd positlon waler. Squnaze the rubber and of e
er of waler dropper and bubbiles wil appear.

Step 3: Release the nbber end of the
dropper and waler wil enter the dropper,

Liquids and gases have mass and occupy space.
State another common property of liquids and gases. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,533

Correctly answered feedback
They have no definite shape/take the shape of their containers.

Incorrectly answered feedback
They have no definite shape/take the shape of their containers.

Question 33 Primary 5 Science » Primary 5 Science (Term 2) 0 pts
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Darran wanded to fill up a pall w=Eing a8 botlle of water.
bitle

e~

method 1 pad 2

The pail was filled up with water Bsler using Mathed 2 Explain why. [2
This
question is designed for extended answers that parent/ teacher will have to assign and guide child to

attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,535

Correctly answered feedback
Air was able to enter the bottle to push the water out.

Incorrectly answered feedback
Air was able to enter the bottle to push the water out.

Question 34 Primary 5 Science » Primary 5 Science (Term 2) Opts
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Jermaing soi up @ leradum as shown below, She dd nod waler the planl= after i was sealad,

e i 208

Adfier tag weelks, Jermsing noficed thal rmisl can be sean insida tha bamariem.

Explain how the 'mist' in the terrarium was formed. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,537

Correctly answered feedback

The water from the damp soil evaporated. The water vapour then touches the cooler surrounding,
loses heat and condenses into mist.

Incorrectly answered feedback

The water from the damp soil evaporated. The water vapour then touches the cooler surrounding,
loses heat and condenses into mist.

Question 35 Primary 5 Science » Primary 5 Science (Term 2) 0 pts
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Jermaing soi up @ leradum as shown below, She dd nod waler the planl= after i was sealad,

e i 208

Adfier tag weelks, Jermsing noficed thal rmisl can be sean insida tha bamariem.

Explain why the plants in the terrarium can survive without being watered for two weeks. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,538

Correctly answered feedback
Water droplets will fall on the soil and evaporate again. Water cycle will repeat.

Incorrectly answered feedback
Water droplets will fall on the soil and evaporate again. Water cycle will repeat.

Question 36 Primary 5 Science » Primary 5 Science (Term 2) 0 pts
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Thia ﬂ--ﬂph bokw shows the change In Be lemperahrs of the air in bath sl aver a few
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(*C)
&
== Oma |hours)
Banad on her gaph, whal conclusiss can she draw' fom tha paperiment? [

Ghve & manon for your ansver,

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,539

Correctly answered feedback

Conclusion: Temperature of air is higher in the beaker wrapped with black paper.
Reason: Black paper absorbs more heat.

Incorrectly answered feedback

Conclusion: Temperature of air is higher in the beaker wrapped with black paper.
Reason: Black paper absorbs more heat.

Qu estion 37 Primary 5 Science » Primary 5 Science (Term 2) 1 pt
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Shervan conduched an expariment i compans thi reles of eveporasion of waltes in contalnems 3
¥ and Z. Ha poured 50 cm? of waber into each of tha fhee containers. He placed the sot-ups

under a fan for a day,

Tal

containgr X container Y container I

Lkt the figures provided in the boo bo compiste e lable balow bo show he volume of

water laft &l tha and of the mperimant. [1]
|
[ 4 om? 28 cm? 18 cm’
O Volume of water ledt in the container [cm?)
Container | Al the start of expariment Afier a day
3 50 =
K] ag |
L 50
Clue Match
Container | At the start of After a 18 cm
experiment day
X 50
Points: +0.3 =0
Container | At the start of After a 28 cm
experiment day
Y 50
Points: +0.3 =0
Container | At the start of After a 40 cm
experiment day
Z 50

Points: +0.4 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,556
Question 38 Primary 5 Science » Primary 5 Science (Term 2)
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Sienvan conduched an expaimant by compang the reies of eveporation of water in containans X
¥ and Z. Ha poured 50 cm? of waber into each of tha fhee containers. He placed the sot-ups
under a fan for a day,

Tal

containgr X conlalner Y container £

Explain why the following actions would help make the experiment a fair test. 2 marks)
i) Using same amount of water in each container.
ii) Placing all three containers at the same place.

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,527

Correctly answered feedback

i) It ensures that the amount of water evaporated is only due to the amount of exposed surface
area.

ii) It ensures that all beakers are exposed to the same temperature of surroundings. same amount
of heat / same amount of wind.

Incorrectly answered feedback

i) It ensures that the amount of water evaporated is only due to the amount of exposed surface
area.

ii) It ensures that all beakers are exposed to the same temperature of surroundings. same amount
of heat / same amount of wind.

Question 39 Primary 5 Science » Primary 5 Science (Term 2) 0 pts
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Thee graph below showes the changes in e mass of the wet b-shirt cver a pariod of s,

Mas ol tha t-=hirt [ig)
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Ham
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,529

Correctly answered feedback
Claim: QR

Evidence: The mass of the t-shirt decreases the most.

Reasoning: The temperature of surroundings is the highest during this period of time, thus the rate
of evaporation of water is the highest.

Incorrectly answered feedback
Claim: QR

Evidence: The mass of the t-shirt decreases the most.

Reasoning: The temperature of surroundings is the highest during this period of time, thus the rate
of evaporation of water is the highest.
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The dizgrams baluw shows the fe cyclea of insecis & and B,

Insec] B

Compare the B oycles of insects A and B.

State 2 differences between the life cycles of insect A and B. (2 marks)
(Do not compare the size, shape and colour of the insects.)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,541

Correctly answered feedback

+ The young of Insec! A resambles fts adult bul not Insect B,

+ [nsecl A lays many eggs al a ime while inesct B lays one agg al a ima.

+ [nsect A has a thres-staga life cycle while insect B has a four-singa lifa
eyl

Incorrectly answered feedback

* The young of Inseci A reasmbles its adult but not inssct B,

+ Insect A lays many eggs al a ime while insect B lays one egg al a time.

= [nsect A hos a three-staga life cycle while insect B has a four-singa lifa
Gycle.

Question 41 Primary 5 Science » Primary 5 Science (Term 2) 0 pts
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The dizgrams baluw shows the fife cycles of insects A and B,

Compare the lie oycles of insscts A and B,

Butterflies lay many eggs on leaves at one time. State one advantage of laying many eggs. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,542

Correctly answered feedback

The chances of more eggs developing into adults is higher.

Incorrectly answered feedback
The chances of more eggs developing into adults is higher.

Question 42 Primary 5 Science » Primary 5 Science (Term 2) 0 pts
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ClassMarker - Manage Test

Tha table beicy i3 made of wood from susiainable forests.

" Busfainable forests: )

A suzfsinable forast will contaln fress of a) ages and offen diffarsal |
species of lrees. As lhe fess mature hey am cul down and tha
malurd wiood s processed al saw mifs. The rees are replaced wifh
soedllings. In this way ihe forast fs constantly renewed. i

Give 2 reasons why it is important to replace the forest trees that are cut down. (2 marks)

to attempt after the test has been completed.

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,543

Correctly answered feedback

Eosslble Answers: (Choose any 2 reasons)

* There will be trees 1o replenish the atmosphare with
Thera will be irees 1o provida feodishelber for animals.

Z

[ ﬂumhﬂpmmm“mmh

Incorrectly answered feedback

Eosslble Answers: (Choosa any 2 reasons)

Thera will be trees to provids foodishelter for animals.

[ mmmﬂhﬁpmunmmh

Question 43

https://www.classmarker.com/a/tests/test/?test_id=1793014&trk=edittest_inrow_edit

Thera will be rocls of trees (o bind gail logather to pmvmt::'nl efoslon,

trees will help take In carban dioxide to prevent global warming.

* There will be trees o replenish the atmesphere with oxyge
Thera will b roots of trees (o bing sell logether to pmvm!::'l efoslon,

Tha treas will halp take In carbon dieotida to prevant @lobal warming.

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was

Primary 5 Science » Primary 5 Science (Term 2)

1 pt
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Tha table beicy i3 made of wood from susiainable forests.

Sustainaiie forests;

!
A suzfsinable forast will contaln fress of a) ages and offen diffarsal |
species of lrees. As lhe fess mature hey am cul down and tha |
v wood is processed al saw milfs. The rees are replaced with
seadiings. In this way ihe forast & consfantly renawad. i

Name a greenhouse gas.

Accepted answers:
¥' Carbon dioxide
v Methane

v’ Water vapour

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,554

Correctly answered feedback
carbon dioxide / methane / water vapour

Incorrectly answered feedback
carbon dioxide / methane / water vapour

Question 44 Primary 5 Science » Primary 5 Science (Term 2) 2 pts
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An experimian wais conducted fo find out e sruegth of four dffevent magrets.

fron nails wers placed an a tabia, rad A heakghi foaatt ]
a5 shirm In tha disgram baolsw, ﬂummt:dm m.t‘. Hm.n.nﬂu "

The rumber of ron naiks attmcfed fo the magnet was recanded in (o Bl Dbz,
M L A B C B
|Mmf§ummm = 17 13 %]

Based on the results above, which magnet was the strongest? Give a reason for your answer?

Accepted answers:
v’ Magnet A
v A

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,553

Correctly answered feedback
Magnet A. It attracted the most number of iron nails.

Incorrectly answered feedback
Magnet A. It attracted the most number of iron nails.

Question 45 Primary 5 Science » Primary 5 Science (Term 2) 0 pts
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9/21/21, 6:47 AM ClassMarker - Manage Test

An sxperimant was corducted fo find aut the swegih of four dffevent magrets.

lron ngils were placed an a tabis, !-hgmnmhmgﬂ-hlq,m
A of 30 om aloee e
as shinm in tha digcram M.hummimmmmﬂ.cnmnmm

magnet

The Fufnber of fron nalls aftmced to the magnet was recordesd in I bl Dbz,
X ; A B | © ]
| HLI'H%L"EHIH [ =2 | ¥ | 13 16 |

Devi wanted to determine the strength of the magnets by using only one iron nail and a ruler. Describe
how she can do so. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,545

Correctly answered feedback

"+ Place sach magnel al an equal distance from an iron nail and
maove the magne! towards the Iron nall until It attracts the nall
+ Measure the distance from which each magnet can atiract the lron

nafl,

Incorrectly answered feedback

" Place each magnet al an equal distance from an iron nall and
move the magne! towards the Iron nall until It attracts the nall
+ Measure the distance from which each magnet can attract the lron

nafl,

Question 46 Primary 5 Science » Primary 5 Science (Term 2) 1 pt
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Tha table below shows some physical rsile of Mr.ard MW, Lim,

ClassMarker - Manage Test

Physical trail . Lim Wirs. Lim
Hair lengih Showt Sharl
Eyelc Singla Singla
Eye caour Black Biack

The tabils bebow sheswn some of tha physical ¥nles of theea gifa, Abby, Biethy and Claim.

[ Physical trait Abby Bty Clnirs
Tiar lergh Sher Long Shert
Eyulid Singha [ Sing Eouble

Eye colour Bk Enack [T

Accepted answers:
v’ Claire

v’ clarie

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Thu 5th Aug 2021
N/A

28,627,546

Question 47

Correctly answered feedback

Incorrectly answered feedback

Only two of the gils are the daughbars of M, and Mes, Lin,

Tha tabla befow shows some phnsbcal insile of Me srd MWra, Lim,

Based on the information given, state which girl is not likely to be the daughter of Mr. and Mrs. Lim.
Explain your answer. (1 mark)

Claire. She has blue eyes and double eyelids while both Mr. and Mrs Lim do not.

Claire. She has blue eyes and double eyelids while both Mr. and Mrs Lim do not.

Primary 5 Science » Primary 5 Science (Term 2)

Physical trait . Lim Wre. Lim
Fiair longth Enot Short
Eyuid Single Singla
Eye coor “Black Back

The tabile babow shows some of tha physical imits of threa gits, Abyy, Batty and Claim.

"~ Physical tak Ay Ewity Cinen
Har lengh Sher Lorg Shert
Eyeld Tinghe [ Gingla Boubin

Eye oolow Black Elack Bim

Only two of he girls are the daughbers of Me, and Mes, Lim,

Explain how physical traits are passed on from parents to their children. (1 mark)

https://www.classmarker.com/a/tests/test/?test_id=1793014&trk=edittest_inrow_edit

0 pts
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,534

Correctly answered feedback
During fertilization, the sperm and egg fuse and traits are passed on from parents to young.

Incorrectly answered feedback
During fertilization, the sperm and egg fuse and traits are passed on from parents to young.

Question 48 Primary 5 Science » Primary 5 Science (Term 2) 1 pt

F‘H}mmﬁimﬂhmmnm&ﬂhnﬂunﬂuﬂmwrdmpushmhﬂud.Enm
g,

Name process K.

Accepted answers:

¥’ Pollination

Question Type: Free Text

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,555

Question 49 Primary 5 Science » Primary 5 Science (Term 2) 0 pts

https://www.classmarker.com/a/tests/test/?test_id=1793014&trk=edittest_inrow_edit 43/52


https://www.classmarker.com/a/tests/qb/manage/?test_id=1793014&question_id=28627534
https://www.classmarker.com/a/tests/qb/manage/?test_id=1793014&question_id=28627534&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1793014
https://0cm.classmarker.com/6226088_5HU3MSNP.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1793014&question_id=28627555
https://www.classmarker.com/a/tests/qb/manage/?test_id=1793014&question_id=28627555&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1793014

9/21/21, 6:47 AM ClassMarker - Manage Test

F‘mnﬂ-l‘[wmwhﬂnmﬂhndsunﬂuﬂmrufmpushmhﬂunhmm
i,

How does removing the petals of plant P affect process K? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,532

Correctly answered feedback
Insects will not be attracted to the flower of plant P and the chances of pollination will decrease.

Incorrectly answered feedback
Insects will not be attracted to the flower of plant P and the chances of pollination will decrease.

Question 50 Primary 5 Science » Primary 5 Science (Term 2) 1 pt

F‘mnﬂ-l‘[wmwhﬂnmﬂhndsunﬂuﬂmrufmpushmhﬂunhmm
i,

Name the female reproductive part that needs to be present in order for process K to take place.

Accepted answers:
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v’ Stigma

Question Type: Free Text

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,547

Question 51 Primary 5 Science » Primary 5 Science (Term 2) 0 pts

F‘H}ﬁﬂaﬁwmmnmﬂhmﬁ:unmm“fmpushmhﬂud.Enm
g,

What is likely to happen to the number of fruits produced by plant P if the number of insect Q
decreases quickly? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,536

Correctly answered feedback

The number of fruits will decrease.
Chances of pollinating the flowers will be lesser so fewer flowers will be fertilised and develop into

fruits.

Incorrectly answered feedback
The number of fruits will decrease.

Chances of pollinating the flowers will be lesser so fewer flowers will be fertilised and develop into
fruits.

Qu estion 52 Primary 5 Science » Primary 5 Science (Term 2) 1 pt
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Kenry pleced o cendie 8 aqual distancs i beteson ten shesis of materals B and £, A0
equal ameund of wa was. attached o tha materiais.

P =

c Vo

Kenny recorded the amecwnt of fime bslen for the wax on malerdals P and G 1o mel as shown

in the table bolow.
I.'Ia:thl Time taken for was o melt (man]
® k)
Q 2

State the independent variable (changed variable) in this experiment.

Accepted answers:

v Type of material

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,548

Primary 5 Science » Primary 5 Science (Term 2) 0.5 pts

Question 53
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9/21/21, 6:47 AM

F-

ClassMarker - Manage Test

}.-.un

Kenry pleced o cendie 8 aqual distancs i beteson ten shesis of materals B and £, A0
equal ameund of wa was. attached o tha materiais.

Keniy recorded the amcwunt of Brme len for the wayx on maledals P and © 1o mek s shown

in the table bolow.
I.'Ia:thl Time taken for was o melt (man]
® k)
Q . 2

Base:

Accepted answers:
v Q
v’ Material Q
v’ Base: Q

v’ Base: Material Q

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,549

Question 54

https://www.classmarker.com/a/tests/test/?test_id=1793014&trk=edittest_inrow_edit

The diagram below shows an electric ron.

Which material (P or Q) should he use to make the base of the electric iron?

base

Primary 5 Science » Primary 5 Science (Term 2)
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F-

ClassMarker - Manage Test

}.-.un

Kenry pleced o cendie 8 aqual distancs i beteson ten shesis of materals B and £, A0
equal ameund of wa was. attached o tha materiais.

Keniy recorded the amcwunt of Brme len for the wayx on maledals P and © 1o mek s shown

in the table bolow.
I.'Ia:thl Time taken for was o melt (man]
® k)
Q . 2

Accepted answers:
vp
v Material P
¥ Handle: P

¥ Handle: Material P

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,550

Question 55

https://www.classmarker.com/a/tests/test/?test_id=1793014&trk=edittest_inrow_edit

The diagram below shows an electric ron.

Which material (P or Q) should he use to make the handle of the electric iron?

base

Primary 5 Science » Primary 5 Science (Term 2)

0 pts
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Kenry pizced a cendie 8 aqual distancs in beteesn ten ghests of matedals B and 01 An
equal amount of wax was altached ia tha maberials,

P =

( " Tl

- L]

Kenny recorded the amownt of Beve bsiven for the wax on maledals P and © 1o mek as shown

in the table bolow.
I.llub'gfnl | Time taken for wax o melt (man}
B 20
Q 2 ~

The diagram below shows an eleclric ron

b e base

Using the results given, explain why you chose the material in the previous question to make the
handle of the electric iron. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,540

Correctly answered feedback

Evidence (shown In table)

Wax on material P took longer o melt

Reason
« [P ls a poorer conductor of heat

o go the handle wil| not'hurt the user's hand

Incorrectly answered feedback
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Evidence (shown In table)

Wax on material P took longer to melt

Reason
» Pls apoorer conduotor of heat

o go tha handle wil| net'hurt the user's hand

Question 56 Primary 5 Science » Primary 5 Science (Term 2) 1 pt

The diagram bedow shows the male and lemsls i _
FoproGCtion of & human. Cals T and U) are neaded for prasens & s aeor'? P10°065 2 i the

"~ ’:
..-'u"'-'u ‘L

Name the reproductive part where cell T is produced:

Accepted answers:
v’ Testicle
v’ Testes

v Testis

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,551

Correctly answered feedback
Testicle/Testes/Testis

Incorrectly answered feedback
Testicle/Testes/Testis

Question 57 Primary 5 Science » Primary 5 Science (Term 2) 1 pt
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mummmmmﬂhmhﬂ-mm process
mpmﬁunﬁanmctTimu:mmmMrmmIﬂ?ﬁgru Enam

"~ ,:
..-'U"-'u ‘L

Name the reproductive part where cell U is produced:

Accepted answers:
v’ Ovary

¥’ Ovaries

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,552

Correctly answered feedback

Ovary/Ovaries

Incorrectly answered feedback
Ovary/Ovaries

Question 58 Primary 5 Science » Primary 5 Science (Term 2) 0 pts

mummmmwmhmmmmm process
WﬂnﬁshmMTimu:mmmMrﬂfﬁr“ .

"~ ,:
N‘-u ‘L

Process Z also takes place in flowering plants.
Describe how process Z takes place in a flower. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,544

Correctly answered feedback
The male reproductive cell in the pollen tube fuses with the egg cell in the ovule.

Incorrectly answered feedback
The male reproductive cell in the pollen tube fuses with the egg cell in the ovule.
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